0 BN = e

AiEYa3—X
BREIEH ABE

ERMER — RO - BEREAERK -1

BREHA ER-AE-BMI-[EFH

REHRE RO -RE-RE

BhRE 1000Hz30db  4000Hz40db (A —#)

BERKRE |BE-FE-ERE-EE- R

BEbRE BBER (N L) A/ 5—-ERYEHK

FRIRE EQ-¥E-PH-LLE-EM

BT aE Y -GTP-AST-ALT-LDH-ALP-O>IRF5—+F
WEVYIEY - #BEB-TILTIV-A/G

A B K3 hi$RERA-HDLAL R T A—)L-LDLaLRAFO—/L

HEACEH TR ME- NES OEVAIC

—fi% FRMER- GMEK-~NESOEY - ATR)y5 - /MR -MCV
MCH-MCHC-RTL/—45> 11

BEHaE REZZR-ILT7F=2-KEE

e ik 77—t

RE CRP

Fx&E HBs#i[R -HCVHA

BIR#BZRRE (ME-DER(REFH-12FE0ER)

HRFRIRE (WEXEER-MEE

EgrE 28k

OBHAS (&) --+4,400M
XPET-CT{a—RZHALIBEE . 2B ICh->TOZELLYET,




